Maple Exercises for Shift Ciphers and Affine Ciphers 

Shift Ciphers (Section 2.1)

1. Encipher the message 

ptext := "RADFORD IS A FUN PLACE TO GO TO SCHOOL";

    using a shift cipher of 12.

2. Cryptanalyze and decipher the messages:

    a. ctext := "UCFYT  CYLCY  QGCPJ  GDCRF  YLMSP  YLACQ  RMPQB  GB";
    b. # 13, 15 p. 69 in textbook.


# 13: 

ctext := "BZCM  EWZBP  QA  QV  JMQVO  VWB  AMMUQVO";


# 15:


ctext := "EGDHE  TGXIN  XHCDI  LXIWD JIBPC  NUTPG  HPCSS  XHIPH ITHPC  SPSKT  GHXIN  XHCDI  LXIWD  JIRDB  UDGIH  PCSWD  ETH";
Affine Ciphers (Section 2.2)

4. Encipher the message  ptext := "RADFORD IS COLD IN JANUARY";


 by using an affine cipher with parameters a = 17 and  b = 23.

5. Decipher the message 

ctext := "OFCAR OCYFN SXDBJ BFMYB OXSTF H";


 that was enciphered with an affine cipher with parameters a = 25 and b = 5.

6. Cryptanalyze and decipher the following message:

ctext := "KPQPC  VNVOP  EOTUP  EOCFN  EBOXK  CPRZR  LPVVR  BPREW  OCFEX  OOXBP  OICHV  OCROP W";

7.  # 10  p. 82 in textbook.


ctext := “EUJPE  HUNKL  NPOJK  VNKSJ  FKTBO  LCHBU  PBOMM  NPKBK  HPBOM  BMAHU  PNKLN  POJKV  NKSJF  KRJTC  JUKPB  OMSJE  HP”;  

